
TOOLS REQUIRED:
Screwdriver

30490 
97-06 JEEP
WRANGLER

97-06 JEEP
WRANGLER

30490B 
30490 

30490B 

97-06 JEEP WRANGLER
Verticle Billet Grille Insert 7 Pc.

Install time: 35 Mins.

Step 1
• Insert U-Nuts through the holes on the Bracket Extentions. (Fig. 1)
• Place the Top Bracket Extention (T) along the top underside of the 
Factory Grille Shell with the Hooks on the Bracket going upward. (on 
the Brackets there will be a T and B T=Top B=Bottom, use the T) (Fig. 
2) 
• Place Fender Flatwasher where the U-Nut on the Bracket is Visible. 
(3rd Hole along the Grille Shell). (Fig. 3)
• Insert #10 1” Screw to Thread in place. (Repeat for remaining side). 
(Fig. 4)
• Place the Bottom Bracket (B) along the bottom of the Grille Shell 
with the Hooks on the Bracket extention going Downward then place 
a #10 1” Screw from underneath the car to Thread the U-Nut on the 
Bracket. (Screw will be placed on the Smaller Hole.) (Fig. 5)
• Place Billet Grille through the Grill Shell. (the bend on the Grille 
goes upward.) (Fig. 6)
• Insert #8 6head Screw through the Bracket on the Billet Grille to 
thread the U-Nut from the Bracket Extension. (Fig. 7)
Repeat for remaining Billet Grilles.

Installation Complete

PLEASE READ AND UNDERSTAND ALL INSTRUCTIONS 
BEFORE ATTEMPTING INSTALLATION.

PARTS LIST:
(7) Billet Grilles                 (14) #8 6head 1” Screws
(18) U-Nuts                        
(2) Bracket Extensions Top and Bottom
(2) Fender Flatwashers
(4) #10 1” Screws

Fig 7

Fig 4

Fig 2

Fig 1

Fig. 3

Fig 6Fig 5

Page 1 of 1Thank you for purchasing a T-Rex Grille. 7/18/11




